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SECTION 1 - General English Exam Date: 17-Mar-2022
Exam Time: 09:30-12:30
Post Name: Composite Paper

Marks: 1.00
Bookmark

Question No.1

Find the word which is correctly spelt from the given options.
(A) O Peculier

(B) O Unanimity (Correct Answer) (Chosen option)

(C) O Unmitigatad

(D) O Reproache

Question No.2 Marks: 1.00

Bookmark
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One, who supervises in the examination hall
(A) O Invigilator (Correct Answer) (Chosen option)

(B) O Shoal
(C) O Epic
(D) O Aspirant

Question No.3 Marks: 1.00

Bookmark
Choose the word which best expresses the similar meaning of the given word "
INDULGENT ".

(A) O Belligerent

(B) O Moderate

(C) O Favorable (Correct Answer)
(D) O Strict

Question No.4 Marks: 1.00

Bookmark
Choose the word which best expresses the similar meaning of the given word "
WRANGLE ".

(A) O Agreement

(B) © Harmony

(C) O Argument (Correct Answer)
(D) O Upgrade
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Question No.5

|
Choose the word which expresses nearly the opposite meaning of the given word " FOE

(A) O Adversary

(B) O Assistant (Correct Answer)
(C) O Enemy

(D) O Rival

Question No.6

Choose the word which expresses nearly the opposite meaning of the given word "
SKEPTICAL ",

(A) O Mistrustful

(B) O Agnostic

(C) O Certain (Correct Answer)
(D) O Doubtful

Question No.7

Fill in the blanks with suitable Preposition from the given alternatives.

A gauge of oil-market volatility _______ Thursday rose to the highest level since
March of last year.

A) O at

(B8) O through

©) O in

(D) O on (Correct Answer) (Chosen option)

Question No.8

Choose the word which best expresses the similar meaning of the given word "
CONFRONT ".

(A) O Avoid

(8) O Yield

(C) O Challenge (Correct Answer)
(D) O Dodge

Question No.9

Fill in the blanks with suitable Preposition from the given alternatives.

Eden Hazard joins Real Madrid five-year contract.
(A) O on (Correct Answer) (Chosen option)

B) O within

(C) O across

(D) O Hill
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Question No.10

Fill in the blanks with suitable Article from the given alternatives.

essay is generally a short piece of writing outlining the writer's perspective
or story.

(A) O No Article

B) O The

Cc)O A

(D) O An (Correct Answer)

Question No.11

Fill in the blanks with suitable Preposition from the given alternatives.

'Crazy’ Mohan, prominent theatre artiste and ace scriptwriter in the Tamil film industry,
died Chennai on Monday.

(A) O against

(B) O in (Correct Answer) (Chosen option)
(C) O since

(D) O on

Question No.12

Find the word which is correctly spelt from the given options.
(A) O Exhaustive (Correct Answer)

(B) O Gradiant
(C) O Fragmanted (Chosen option)
(D) O Eroneous

Question No.13

\
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

Because it was such a bargain, Rekha couldn't help but buy three of the low-priced
pants.

(A) O Because it were such a bargain, Rekha couldn’t
(B) O Because it was such an bargain, Rekha couldn’t
(C) O Because it was such a bargain, Rekha will be

(D) O The given sentence is correct (Correct Answer)

Question No.14

\
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.
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The economic problem of farmers on Africa are a dismal one which has caused many
of them to lose their livelihood.

(A) O to farmers in Africa is a dismal one what has

(B) O of farmers in Africa is a dismal one which has (Correct Answer)
(C) O of farmers in Africa are a dismal one which have

(D) © The given sentence is correct

Question No.15 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct.

During the cyclone, over an two hundred families lost their lands.
(A) O over atwo hundred families lost (Correct Answer)

(B) O over atwo hundred families lose

(C) O over an two hundred families lose
(D) O The given sentence is correct

Question No.16 Marks: 1.00

Bookmark
Fill in the blanks with suitable Article from the given alternatives.

I met European inside the park.
(A) O a(Correct Answer)

(B) © No Article

(C) O the

(D) © an (Chosen option)

Case Study - 17 to 21 5.00
Directions: Read the passage carefully and answer the questions that follow.
The animals that live in a specific region are what we call the wildlife of the region. Just as
vegetation is the flora, wildlife is the fauna of a region. It includes all the animals, birds, insects
etc. of the region.
The diversity of wildlife in the world is unimaginably large. There are said to be about 1 to 2 million
species of animals on the planet! And India in particular boasts of an incredible wildlife presence.
Our national animal, the tiger is one such rare animal found in India. In fact, the Bengal tiger can
be found nowhere else on earth. We also have the Asiatic Lion, the only species of lions found
outside Africa.
To preserve these amazing animals and their natural habitats, we have many conservatories,
national parks and wildlife sanctuaries. In recent times to bring down illegal hunting and poaching
the Indian government has passed some very strict laws as well.

Question No.17 Marks: 1.00

Bookmark
What are vegetation in a specific region called?

(A) O Species

(B) O Fauna

(C) O wildlife

(D) © Flora (Correct Answer) (Chosen option)
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Question No.18

What do we have to safeguard the animals and their habitats?
(A) O Conservatories

(B) O National parks
(C) O Wwildlife sanctuaries
(D) O All of these (Correct Answer) (Chosen option)

Question No.19

Which of the following would be the suitable title for the given passage?
(A) O National animal - Tiger

(B8) O Wwild life in India (Correct Answer)
(C) O Indian vegetation
(D) O lllegal hunting of animals

Question No.20

According to the passage, what does the word 'boasts’' mean?
(A) O Defames

(B) O Abuses
(C) O Hides
(D) O Brags (Correct Answer)

Question No.21

Statement 1: The animals that live in a specific region are called as fauna.
Statement 2: Bengal Tiger is found only in India.

(A) O Statement 1 is true and statement 2 is false
(B) O Statement 1 is false and statement 2 is true
(C) O Both the statements are true (Correct Answer)
(D) O Both the statements are false

Question No.22

Choose the word which expresses nearly the opposite meaning of the given word "
BESET ".

(A) O Invade
(B) O Clarify (Correct Answer)
(C) O Harass
(D) O Nudge

Question No.23

Fill in the blanks with suitable Article from the given alternatives.
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Ablack holeisbornwhen _____ large star collapses in on itself.
(A) O No Article

(B) O an

(C) O a(Correct Answer) (Chosen option)

(D) O the

Question No.24

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

That which cannot be seen through

(A) O Opaque (Correct Answer) (Chosen option)
(B) O Unique

(C) O Cyclic

(D) O Transparent

Question No.25

Choose the word which expresses nearly the opposite meaning of the given word "
DEFAMATION ".

(A) O slam

(B) O Lie

(C) O Approval (Correct Answer) (Chosen option)
(D) O Detraction

Question No.26

Fill in the blanks with suitable Prepasition from the given alternatives.

The chief guest asked the teachers totiearibbon____ the gift box.
(A) O around (Correct Answer)

(B) O since
(C) O beyond (Chosen option)
(D) O between

Question No.27

Choose the word which expresses nearly the opposite meaning of the given word "
ENCROACH ".

(A) O Crash

(B) O Ignore (Correct Answer)
(C) O Interfere

(D) O Intrude

Question No.28
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Ba
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A person who looks at the darker side of things
(A) O Somnambulist

(B) O Optimist (Chosen option)
(C) O Pessimist (Correct Answer)
(D) O Amnesia

Question No.29

Bc
Choose the word which best expresses the similar meaning of the given word " ASSENT

(A) O Disagreement

(B) © Calm

(C) O Accord (Correct Answer)
(D) O Rejection

Question No.30

Bc
Fill in the blanks with suitable Preposition from the given alternatives.
The rain has been continuous _________ this afternoon.
(A) O at (Chosen option)
(B) O since (Correct Answer)
(C) O over
(D) O against
Question No.31
Bc
Find the word which is correctly spelt from the given options.
(A) O Feesible
(B) O Ethreal
(C) O Asimilate
(D) O Exemplary (Correct Answer)
Question No.32
Bc

Fill in the blanks with suitable Article from the given alternatives.

Dominic Thiem is an Austrian professional tennis player.
A)O A
(B) O No Article (Correct Answer) (Chosen option)
(C) O An

(D) O The
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Case Study - 33 to 37
Directions: Read the passage carefully and answer the questions that follow.
Google has removed a total of 85 malicious apps from Play Store after security researchers found
these apps to be a disguise of an adware family. These apps were available in the form of game,
TV, and remote control simulator apps on the Android Play Store. These adwares are capable of
displaying full-screen ads, hiding itself, monitoring a device's screen unlocking functionality, and
running in the mobile device's background.
These apps have been downloaded over 9 million times from the Play Store with one of the apps
named "Easy Universal TV Remote" has alone been downloaded over 5 million times. It is the most
downloaded apps among the list of all 85 adware apps. Despite coming from different developers
and signed by different APK public key certificates, the apps exhibited same source code and
shared the same source code.
Question No.33 Marks:
Bookmark
Why did Google remove 85 apps from the playstore?
(A) O Because these are harmful apps (Correct Answer)
(B) © These are signed by different APK public key certificates
(C) O People might get addicted to those apps
(D) © The maintenance is costly
Question No.34 Marks:
Bookmark
According to the passage, what does the word 'malicious' mean?
(A) O Bland
(B) O Useful
(C) O Harmful (Correct Answer) (Chosen option)
(D) O Noble
Question No.35 Marks:
Bookmark
What is the passage about?
(A) O Android Playstore
(B) © Malwares (Correct Answer)
(C) ©O Remote control
(D) © Google
Question No.36 Marks:
Bookmark
The adwares are not capable of which of the following functions?
(A) O Displaying full-screen ads
(B) © Monitoring a device's screen unlocking functionality
(C) O Screen recording the activities in the system (Correct Answer)
(D) ©O Running in the mobile device's background
Question No.37 Marks:
Bookmark
Statement 1: These malicious apps are capable of hiding itself.
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Statement 2: The Easy Universal TV Remote app has been downloaded 9 million times
from the playstore.

(A) O Statement 1 is true and statement 2 is false (Correct Answer)
(B) O Statement 1 is false and statement 2 is true (Chosen option)
(C) O Both the statements are true

(D) O Both the statements are false

Question No.38

Be
Choose the best option from the given alternatives which can be substituted for the

given word/sentence.

That which lasts forever
(A) O Fugitive
(B) O Cannibal
(C) O Internal

(D) O Eternal (Correct Answer) (Chosen option)

Question No.39

Bc
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

Several months later, the small village is still reeling from the crisis caused by the 2012
hurricane.

(A) O are still reeling from the crisis caused by

(B) O were still reeling from the crisis caused by

(C) O s still reeling from the crisis cause by

(D) © The given sentence is correct (Correct Answer)

Question No.40

Bc
Find the word which is correctly spelt from the given options.
(A) O Inclination (Correct Answer) (Chosen option)
(B) O Sibbling
(C) O Perplax
(D) © Regretable

Question No.41

Bc
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who journeys from place to place

(A) © Amphibian

(B) O Polygamy

(C) O Htinerant (Correct Answer) (Chosen option)
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(D) O Teetotaller
Question No.42
B¢
Find the word which is correctly spelt from the given options.
(A) O Oscilate
(B) O Legitimate (Correct Answer)
(C) © Emphathy
(D) O Problamatic
Question No.43
B¢
Choose the word which best expresses the similar meaning of the given word "
STAGGER ".
(A) O Shake (Correct Answer)
(B) O Steady
(C) O Peak
(D) © Continue
Question No.44
Bc
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.
Even though the player have a difficult decision to make, he decided to enjoy the hockey
game and worry about his dilemma later.
(A) O had a difficult decision to make, he (Correct Answer)
(B) O has a difficult decision to make, she
(C) O had an difficult decision for make, he
(D) O The given sentence is correct
Question No.45
B¢
Fill in the blanks with suitable Article from the given alternatives.
The Hindu is ninth-most-circulated newspaper in India.
A) O a
(B) O an (Chosen option)
(C) O the (Correct Answer)
(D) O No Article
Question No.46
B¢
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.
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Because she were marrying_him, there would be an acquisition of all of his properties.
(A) O she were marrying him, there would an

(B) O she was marrying him, there would be an (Correct Answer)
(C) © she will be marrying him, there would be a
(D) O The given sentence is correct

Question No.47

Fill in the blanks with suitable Preposition from the given alternatives.

The squad found a bomb the truck.

(A) O for

(B) O against

[CYy¢y o

(D) O underneath (Correct Answer) (Chosen option)

Question No.48

Fill in the blanks with suitable Article from the given alternatives.

Within hour, the tweets from his account were deleted and the display picture
and cover photo were removed.

A)O a

(B) O No Article

(C) O the

(D) O an (Correct Answer) (Chosen option)

Question No.49

Fill in the blanks with suitable Article from the given alternatives.

In April last year,
System Data.

(A) O the (Correct Answer) (Chosen option)
(B) O No Article

(©) O an

D) O a

Reserve Bank of India issued a directive on Storage of Payment

Question No.50

Fill in the blanks with suitable Preposition from the given alternatives.

My brother lives
(A) O over
(B) O since
(C) O in (Correct Answer)
(D) O across (Chosen option)

the building at the end of the crosscut road.
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SECTION 2 - Odia Language

Question No.1

doa 6Ie FrIQ 696! 6186 O - D9Ia G2 ?

(A) O @feayl (Correct Answer) (Chosen option)
(B) O gfaal

() O gfaqu

(D) O @faay

Question No.2

'geIgIg - 6a@ QeNQ ?

A) O aevaiaie aaig

(B) O a¢ilied aald

(C) O eg gea anId (Correct Answer)
(D) O @ Qaia (Chosen option)

Question No.3

Q@1 6@ ‘Ransack’ Q GPal 29QIQ @'61 ?
(A) O 700 @aQl

(B) O &g /el

(C) O pée @I (Correct Answer)
(D) O oQIa Qae|

Question No.4

d9a 6Ie FrIQ 606! 610G OR - 09IR @21 ?

(A) O agele

(B) O aEde

(C) O aigee

(D) O 2161QI@ (Correct Answer) (Chosen option)

Question No.5

78 + QU6 - IF Q6M @'61 629 ?

(A) O Game

(B) O a8

(C) O fanauel

(D) O @1|él (Correct Answer) (Chosen option)
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Question No.6

' - RQ AAITERRIR 1R @61 ?

(A) O ea@m

(B) O @de (Correct Answer) (Chosen option)
(C) O oae

(D) O gae

Question No.7

'ENANE - 626 AFIa ?

(A) O Gqania

(B) O 9 gaa aaid

(C) O <@g91@ aqia (Correct Answer) (Chosen option)
(D) O edeg anld

Question No.8

671l ARl @60 ©1 G2 | QIRYER QI FeEIRE AT BgI2l ?
(A) O G

(B) O dia (Chosen option)

(€) O @l

(D) O @6d (Correct Answer)

Question No.9

¢ ol BAAER IQ P66 | AR AT & IRIQ ASRIF ?
(A) O 4gRIen 9QI¢

(B) O ageQios aseid
(C) O @fégiae adqiq (Correct Answer) (Chosen option)
(D) O ggRIee 9aQI¢

Question No.10

QW1 6@ ‘Consensus’ Q GH2 2@QIQ @'6 ?
(A) O Qolasaie

(B) O @acER
() © adafd (Correct Answer)
(D) O 6:I6 TRITR

Question No.11
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'ARYI' - S1RQ AANTIERRIR SR @'61 2
(A) O geee

(B) O @iaé

(C) O ggya (Chosen option)
(D) O deId (Correct Answer)

Question No.12

QIR € ‘Valiant’ @ G2 2AQRIQ @6 ?
(A) O 9nYee QR

(B) O {dd Queea

(c) O @ QUeea (Correct Answer)
(D) O QR AR

Question No.13

Q6¢1 gQN Sl6R AFQ 69GQ | 6RSIRE TIT 68 Q FUIQ ARIQQE ?
(A) O atig Fa

(B) O aa¢e & (Chosen option)

() O 2aaidal §4l (Correct Answer)

(D) O aride

Question No.14

QAR €1 ‘Scrap’ Q BF2I 2APAIQ @'81 ?

(A) O oaRIene

(B) O ¢laua aiel

(C) O ggol@da

(D) O 2easial @d (Correct Answer) (Chosen option)

Question No.15

AUR1 €& ‘Seaboard’ @ BFal APRIQ @'81 ?
(A) O afgeR

(B) O ageg® (Correct Answer)

(C) O ageee

(D) O ageaiel

Question No.16

R°QUE 61Q ‘Evacuate’ @ G52l 2gQI0 §'6 ?
(A O
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AFRQS!
(B) O ea@aél

(©) O gIRIgaIeasl (Correct Answer) (Chosen option)
(D) O amiwe

Question No.17 Marks

Bookmarl
QR €1 ‘Certitude’ Q B2 AQQIQ &' ?

(A) O deragay e (Correct Answer)
(B) O eaRI@gs

(C) O oanzRga

(D) O QeEeg

Question No.18 Marks

Bookmarl
AR 6IQ ‘Pierce’ Q G2 2QRIQ @61 ?

(A) O @@ @QQl (Correct Answer)
(B) O I0 @8
(C) O A4 *QQ!
(D) O 2mel @8Q!

Question No.19 Marks

Bookmarl
7166 AIGM 2IF] ARMIES! | QIRY6Q &l Y6688 AT 02l ?

A) O ag

(B) O Qieml (Correct Answer)
(C) O @m (Chosen option)

(D) O w6

Question No.20 Marks

Bookmarl
QAR 6L ‘Volatile' Q GG 2QQIQ @61 ?

(A) O Qigene (Correct Answer)
(B) O arige @ig

(C) O QI 2ie

(D) O &1eRQIg

Case Study - 21 to 25
QIERA Q161 6228 9L 199 F2ER F19R 4L B AAAIEE 249 Q1@ | a°QIe, €°Ad @ 2R FICRE JAIQ @I @
| QIER1, Q9P 761168 OF QITER FAg FRITIRR el - IVAYEO 9F, 9860 9F G AIRTR @9 | 91 a1]
CRIEA IQ° Q45 QAR FA6R 60@ A°Ad 6Q8IAN GIRIg Q8 §Q QAN | 4G AIER 9RE QIS IR
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66l Q9 6R6IN QI g 99 9LITN | J2AG QgIg I8 626m ARYE AIRER I8 A | 999219
Qo' QIC'e JRQI9Y 62 |
Question No.21 Mar
Bookm
QYR 945 FUER 99° Q4F AR FIER 6UR I°AY 6REITN, PIRIg AICRER 6RR QQ QRIKN ?
(A) O g8
(B) O @&cjei1 (Correct Answer) (Chosen option)
(©) O aed
(D) O 2gdjen
Question No.22 Mar
Bookm
Q4R AQEN 999 6°R 6REIAIREQI A°Ad 6R6066IT QIRER ATFE ?
(A) O o6
B) O ae
() O ol
(D) O @& (Correct Answer) (Chosen option)
Question No.23 Mar
R R Bookm
QAT QI IS 626m ARYE '8 ?
® O apge
(B) O suede ge (Correct Answer) (Chosen option)
() O ¢aioae ge
(D) O QRNge
Question No.24 Mar
Bookm
e, 9°9d @ YeM FICRT Q'8 @ QI ?
(A) O @m (Chosen option)
(B) O 9qIg (Correct Answer)
(€) O saua
(D) O e
Question No.25 Mar
Bookm
RICRA g8 RI2IQ §RIAN ?
(A) O @mg
(B) O od@
(C) O @@ (Correct Answer) (Chosen option)
0) O ag
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== ]

Question No.26

QAR 619 ‘Puzzle’ Q BRI 2QQIQ @61 ?

(A) O 2eiga gdg

(B) O seolim&a 4<I (Correct Answer) (Chosen option)
(€) O ogieag

(D) O ga ol

Question No.27

QU1 6% ‘Butler' @ G@BII QIR @'8l ?
(A) O guegee 6ae@ (Correct Answer)

(B) O gmieaIm
(C) O deqRcIex
(D) O @ueIga dIg

Question No.28

& 26)60 601 0f JERI A8 ? 6REIFE UOT 60R FYIQ ARIRAE ?
A) O aaadel @l

(B) O aqidal @& (Correct Answer) (Chosen option)
() O 2ede ol

(D) O Ag el

Question No.29

'gaIQél’ - s9x QANG € Q'8 ?

") O 98g

(B) O gewIee (Correct Answer) (Chosen option)
(c) O agas

(D) O 2aqe

Question No.30

R°QIR1 61 ‘Pancake’ BRI AQRIQ @'l ?
(A) O ea1Gol

(8) O Joigge ae

(€) O Toigg a1

(D) O eg® Tol (Correct Answer)
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Question No.31

648 gQ AAQY | 6aEIRE J9T & eI ASRIA ?
(A) O 9QI08 AQI¢

(B) O Rélom adale
(C) O Reaane adQIf (Correct Answer) (Chosen option)
(D) O UgRIee 2RI

Question No.32

Q601 QIRACIA 64 RM VAR | ERHIHE AT 6RE! QUL ?
(A) O e1q Qi@ 2@44), (Correct Answer) (Chosen option)

(B) O agegee 24a,
(C) O aIQaelIe 2144,
(D) O Gegide 2Q4a,

Question No.33

'RIQT - 96 QAN 612 @61 ?
(A) O 2mIe1 (Chosen option)

(B) O @@ (Correct Answer)
() O Qi
(D) O g’

Question No.34

QAR 6L ‘Satire’ Q GF2 AR @61 ?
(A) O eyere@I (Correct Answer)
(B) O @g Qoal

(€) O ggaeel

(D) O QIQ4 ISR

Question No.35

'[@l' - QA AAITERRIP 60 K'41 ?
(A) O sl

B) O @@ (Chosen option)
(C) O «eqIqe (Correct Answer)
(D) O oriee

Question No.36
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QAR SIQ ‘Proximity’ @ G2l 29QIQ §'61 2
(A) O g

(B) O g&6él (Correct Answer)

() O goeamal

(D) O goQe

Question No.37

QW1 61Q ‘Roster’ @ (3@8” 2QQIQ 0’6l ?
(A) O amal

(B) O QIR eIm@! (Correct Answer)
(C) O dimelea@@ (Chosen option)
(D) O a@uael

Question No.38

QQUR1 612 "Honeycomb’ & GH2I 2IGAIC 61 ?
(A) O @igecral (Correct Answer)

(B) O &er el
(C) O wynse!
(D) O Quen AgAIg

Question No.39

doa 60 AU 606 608 O - 91 82l ?

(A) O e1eals

(B) O @@6aIa (Correct Answer) (Chosen option
(C) O eukal

(D) O ekeaIa

Question No.40

QA1 61€ ‘Depose’ Q (3@8” aglQ @'617?
(A) O ap8e caal

(B) O 6I1Gg4e 6291 (Correct Answer)
(C) O @sadl @del

(D) O <86 gl

Question No.41

Q°QIR1 612 ‘Maternal’ & GZ2I 2gQIQ @'l ?
A O
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qge aag,

(B) O aige°¢g (Correct Answer) (Chosen option)
(C) O agae

(D) O age

Question No.42 Marks:

_ _ Bookmark
640160 225! MIGE, Al 6Q0Ig G9! A0 Q6L | 6aGlIRe JQT 696 AQ4L, ?

(A) O e@geele 244, (Correct Answer)
(B) O QUeQIoe 21Q44,

(C) O Qe aQig,

(D) O @1q Qida A4

Case Study - 43 to 47
TR 6 QIR 98l VBT 6619R CRIFIAING FQRER IR G A QaIRA | G2l 6518, R0
2R6RR0 6aIFIa Ade gORY | Of QIPEA 218 AFIT AR G PRAER Q1A AIRd | 606 °gRgAIeR AGYR A6
@0g 6QFIRg 6 SRI Q6Q | CIRe AL 66IFE Adiag NIRRT 661N 6CIFIR IER Q6d 56
PaRg | 60180 Adia 9Reg JIORFINE dICEa dAEe @ARIQ CIRe FRRY | “66IAL Adia AgERER FITAER
JQl 2IdQ 96 1 69 QIR URIMNE FFIRE 8R4 AAYF RERE, 660 EAIRG 6d FIRE, 660 MG ARG
Q68,6060 1 6AIRTA RYS AR 16619L ATIA AIOR AFOIQ 1M QRS G AIIRS | 6IAQ ZIFaIQT
(EEQ Q2 QIREA AER 26A@ URAPE, 26aRe ATeaIR Jo1e dg2l 01a afeld Jel 936y Ae o, feea
QId Qe2ml, 66100 Adian FeIds Qasa | AR ¢l 90 6RIQA QF Qd 2IgAe @gejeIa @6ig g2 ead
REdI6R A1 | JQaIR CIEFI 601661 66182 AGIA TRU6R | 01 204l @R Jg2l 2INJERIY AR K0E |

Question No.43 Marks:
_ . ) R Bookmark
QEIRET Q6! AISIGlIR1E 606 CIR6A 66lld@ 66lIF] @QRRER PR ol I@IsIe ?
(A) O gdia
(B) O dgal
(C) O e6lGR

(D) O &@®Ia (Correct Answer) (Chosen option)

Question No.44 Marks:

Bookmark
dQIQ 6R6Q AR 66I8Q 6aIgIQ 9OFY @q?

(A) O dgel (Chosen option)

(B) O Agee

(€) O ec1@% adia (Correct Answer)
(D) O a@qlen

Question No.45 Marks:
Bookmark

66180 AFIAR 696 @R IR F1f 264 FAUARE?
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(A) O qae «a@

(8) O 0&g

(C) O 6ol @t@

(D) O Qgalgia age 6aa2QIq (Correct Answer) (Chosen option)

Question No.46

6610R QLA QIP| OIQ 6Q6! ARD?
(A) O aew

(B) O gga
() O aa
(D) O g9k QIA (Correct Answer) (Chosen option)

Question No.47

SRIQ Gga gl 0ag @4 ?

(A) O @ga (Correct Answer)
(B) O aLew

() O adia

(D) O ealdg

Question No.48

R°ale1 619 ‘Thickhead' @ G&2l 2gQie '8 ?
(A) O 6fl61 Q4§

(B) O Q9@ NG
(C) O @eaQId @4 (Correct Answer)
(D) O 2eg2I ey

Question No.49

RQUR1 1@ ‘Henchman' Q B2 2gQIQ §'61 ?
(A) O ggee

(B) O q@ean

(€) O Qwsaoe ande

(D) O @¢gg anede (Correct Answer)

Question No.50

'Pad - 400 FAQE 6@ @'61 ?
(A) O aed
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(B) i@
(C) O ged (Correct Answer) (Chosen option)
(D) O /g

SECTION 3 - Mental Ability and Reasoning Test

Question No.1

B«
How many triangles are there in the given figure?

A)O 6
B) O 8
(C) O 7 (Correct Answer)
(D) O 9 (Chosen option)

Question No.2

B«
Replace the question mark with an option that follows the same logic applied in the
first pair.
Aspire : Desire :: Assess : 7?
(A) O Ignore
(B) O Neglect
(C) O Estimate (Correct Answer)

(D) O Greet

Question No.3

£]]
In a certain code language, if GRADE is coded as TIZWV, then how is RIVAL coded in that
language?
(A) O IREZO (Correct Answer) (Chosen option)
(8) O VMZEP
(C) O MVZPE

(D) O RGBOX

Question No.4

B«
In this question, two statements are given followed by two conclusions numbered i and
ii. You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: Some stems are branches. All branches are roots.
Conclusions:

i) Some stems are roots.

if) No stem is root.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows
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(D) Neither i nor ii follows
(E) Both i and ii follow.

A)O C
B)O E
©Oos8
(D) O A (Correct Answer) (Chosen option)

Question No.5

B«
In this question, three statements are given followed by two conclusions numbered i and
ii. You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: Some apples are oranges. All oranges are carrots. Some carrots are beans.
Conclusions:

i) Some apples are carrots.

ii) Some beans are oranges.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i orii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

A)O C

B)O B

(C) O A (Correct Answer)

(D) O E (Chosen option)

Question No.6

B«
Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
9,4,25,16,21,49
(A) O 49
(B) O 21 (Correct Answer) (Chosen option)
() O 4
(D) O 25

Question No.7

B«
In this question, two statements are given followed by two conclusions numbered i and
ii. You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: All laptops are gadgets. All mobiles are laptops.
Conclusions:

i) All mobiles are gadgets.

ii) All gadgets are laptops.
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Choose the appropriate one from the following options
(A) Only conclusion i follows
(B) Only conclusion ii follows
(C) Either i or ii follows
(D) Neither i nor ii follows
(E) Both i and ii follow.
A O E
(Bye2-¢
(C) O A (Correct Answer) (Chosen option)
Do)O B
Question No.8
Bc
Find the odd image out in the given series.
(A) O 4 (Chosen option)
B) O 1
(€ 3
(D) O 2 (Correct Answer)
Question No.9
B¢
Replace the question mark with an option that follows the same logic applied in the first
pair
52560:18::61111: ?
(A) O 10 (Correct Answer)
B) O 14
(C) O 15 (Chosen option)
(D) O 12
Question No.10
Bc
In a room, the headcount of cockroaches and spiders together is 105, leg count of
cockroaches is same as leg count of spiders. Find the leg count of cockroaches in the
room.
(A) & 35§
(B) O 360 (Correct Answer)
(©) O 375
(D) O 370
Question No.11
Bc¢
A is the spouse of B. D is the daughter of B and mother of E. How is E's father related to
A?
(A) O Son
(B) O Niece
(C) O Son-in-law (Correct Answer) (Chosen option)
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(D) O Uncle

Question No.12

In this question, relationship between different elements is shown in the statement.
This statement is followed by two conclusions:

Statements: O<R<A=N<G>E
Conclusion:

i)R<G

ii)0O<N

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

A)O A

(B) O E (Correct Answer)

(C) O B (Chosen option)

Do)O C

Question No.13

Find the next number in the series.

311, 335, 294, 318, 277,?

(A) O 301 (Correct Answer) (Chosen option)
B) O 321

(C) O 292

D) O 311

Question No.14

Choose the correct water image of the given image from the following options.
(A) O =(Correct Answer) (Chosen option)

B) O
© O
D) O

Question No.15

Which one of the following images numbered as (1), (2), (3), (4) will be the next image
for the given series?

A O 4
B) O 3
€O 2
(D) O 1 (Correct Answer)
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Question No.16

B¢
Replace the question mark with an option that follows the same logic applied in the
first pair.

QCG : SEI :: 72: UIS

(A) O SHP

(B) O RHQ

(C) O sGQ (Correct Answer) (Chosen option)
(D) O RGP

Question No.17

B¢
Find the next number in the series

3,4,5,20,73,?

(A) O 374 (Correct Answer)
(B) O 378

() O 372

(D) O 376

Question No.18

B¢
In this question, two statements showing relationship have been given, which are

followed by three conclusions i, ii and iii. Assuming that the given statements are true,
find out which conclusion(s) is/are definitely true.

Statements:P=Q>R, R=S<T=U
Conclusions:

)P=<S

i)P=R

iiiyP=S

(A) O Onlyi)andii)

(B) © Only i), ii) and iii) (Chosen option)
(C) © Onlyiii)

(D) ©O None follows (Correct Answer)

Question No.19

Be
Which one of the following alternatives will perfectly complete the given figure?

A) O
(B8) O
(C) O = (Correct Answer) (Chosen option)
D) O

Question No.20

B¢
IfP=25J=2,L=16,M=4,thenP+-MxL+J=7?
(A) O 98

B) O 48
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(c) O 100
(D) O 50 (Correct Answer)

Question No.21

Read the following statements and answer the following question.
A@B means A is the husband of B

A#B means A is the wife of B

ASB means A is the son of B

A%B means A is the daughter of B

In the equation P%Q@R%S, How is P related to S?

(A) O Daughter

(B) O Granddaughter (Correct Answer) (Chosen option)
(C) O Daughter-in-law

(D) O Niece

Question No.22

A man said to a lady, "Your father's wife's sister is my wife." How is the lady's mother
related to the man?

(A) O Mother-in-law (Chosen option)
(B) O Cousin

(C) O Aunt

(D) O Sister-in-law (Correct Answer)

Question No.23

In a row of 30 persons facing North, Person A is 10th from the right side. After shifting
him fourth to the right from the existing position, what is his position from the left side
now?

(A O 27
B) O 26
(C) O 25 (Correct Answer) (Chosen option)
(D) O 30

Question No.24

Replace the question mark with an option that follows the same logic applied in the
first pair.

MK:PN:CM:??

(A) O FP (Correct Answer) (Chosen option)

B) O FO

(c) O GP

(D) O GO

Question No.25
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Which one of the following images numbered as (1), (2), (3), (4) will be the next image
for the given series?

A O 2
®B) O 3
©O 4
(D) O 1 (Correct Answer) (Chosen option)

Question No.26

B«
In a certain code language, if HUSBAND is coded as SUHBDNA, then how is MONSTER
coded in that language?

(A) O NMOSRET
(B) O NOMSRET (Correct Answer) (Chosen option)
(C) O NOMSRTE
(D) O NOSMRET

Question No.27

B«
Each face of the given dice is printed with the letters A, B, C, D, E and F. What letter is

printed on the face opposite to the letter E?
A)O F

B)O C
© O A
(D) O B (Correct Answer)

Question No.28

B«
Which one of the following images numbered as (1), (2), (3), (4) will be the next image
for the given series?

A O 2
B) O 4
(C) O 1 (Correct Answer)
©)O 3

Question No.29

B«
In this question, relationship between different elements is shown in the statement.

This statement is followed by two conclusions:

Statements: A<B<C=z=D>E=F
Conclusion:

i)A<E

i)D>F

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows
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(D) Neither i nor ii follows
(E) Both i and ii follow.

(A) O B (Correct Answer)
(B) O E (Chosen option)
{C)Q C

DO A

Question No.30

Choose the alternative which is similar to the given series.
(A) O 2

B) O 4

{C)E) 3

(D) O 1 (Correct Answer)

Question No.31

Replace the question mark with an option that follows the same logic applied in the
first pair.

Pig : Piglet :: Platypus : ??

(A) O Platypup (Correct Answer) (Chosen option)
(B) O Fawn

(C) O Kitten

(D) O Puppy

Question No.32

E is the daughter of D whose wife is C. C who is the daughter of A whose husband is B.
How is D related to B?

(A) O Son-in-law (Correct Answer) (Chosen option)
(B) O Grandson

(€) O Son

(D) O Father-in-law

Question No.33

|
Pointing to a boy, a girl said, "He is the cousin of sister of son of only sibling of mother of
my brother." How is the girl related to the boy?

(A) O Aunt

(B) O Niece

(C) O Mother

(D) O Sister (Correct Answer) (Chosen option)

Question No.34

In this question, relationship between different elements is shown in the statement.
This statement is followed by two conclusions:
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Statements: F<I=G=H<T>EzR>S
Conclusion:

)E<G

i)H>R

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

A)O B

B) O A

(CyCEC

(D) O D (Correct Answer) (Chosen option)

Question No.35

|
If a mirror is placed on the right side of the given image, then which one of the following
options is the correct image of the given figure?

® O
(B) O = (Correct Answer) (Chosen option)
€ O
() O

Question No.36

I
In this question, three statements are given followed by three conclusions numbered |, ii
and iii. You have to assume everything in the statements to be true, then consider the
three conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statements.

Statements: All green are yellow. Some yellow are red. All red are white.
Conclusions:

i) Some white are yellow.

ii) Some white being green is a possibility.

iii) Some green are red.

(A) O Only i) and ii) follow (Correct Answer) (Chosen option)

(B) O Either ii) or iii) follows

(C) O Onlyiii)

(D) © Onlyii) and iii) follow

Case Study - 37 to 39
Directions: In a certain code language:
'vou did well' is written as 'hu ra ya',
'did he join' is written as 'ja mo hu',
'he is well' is written as 'yacs ja'.

Question No.37

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

What is the code for join' in the given code language?
(A) O ja

(B) O mo (Correct Answer)

(C) O hu (Chosen option)

D) O vya

Question No.38

What is the code for 'he' in the given code language?
(A) O cs

B) O hu

©) O ya

(D) O ja(Correct Answer)

Question No.39

What does the code 'cs' stand for?

(A) O join

B) O he

(C) O well

(D) O is (Correct Answer) (Chosen option)

Question No.40

\
In this question, three statements are given followed by two conclusions numbered i and
ii. You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: All seeds are fruits. Some fruits are vegetables. No vegetable is plant.
Conclusions:

i) Some seeds are vegetables.

ii) No seed is plant.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

A O B

B)O C

(C) O D (Correct Answer)

(D) O A (Chosen option)

Question No.41

In a certain code language, if AHEAD is coded as DKHDG, then how is DEATH coded in
that language?
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(A) O HGDKW

(B) O GHDWEK (Correct Answer) (Chosen option)
(¢) O LXEIH

(D) © WVZGS

Question No.42

Pointing to a photograph of a girl, a man said "She is the paternal grandmother of
daughter of brother of my sister". How is the girl related to the man?

(A) O Niece

(B) O Mother (Correct Answer)
(C) O Sister

(D) O Sister-in-law

Question No.43

\
Each face of the given dice is painted with the colours Red, Green, Blue, Brown, Pink and

Yellow. If Pink colour is neither opposite to Brown nor opposite to Blue coloured face,

Yellow coloured face is adjacent to Blue coloured face, then which coloured face is not
adjacent to Blue coloured face?

(A) O Green
(B) O Brown
(C) O Red (Correct Answer)
(D) O Yellow

Question No.44

Find the next number in the series.
41,43, 46, 51, 58, ?

A O 71

(B) O 74 (Chosen option)
(C) O 69 (Correct Answer)
(0) O 67

Question No.45

Find the next number in the series.
13,27,56,115,234,?

(A) O 345

(B) O 433

(C) O 473 (Correct Answer) (Chosen option)
(D) O 395

Question No.46

How many squares are there in the given figure?
A) O 19
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(B) O 20 (Correct Answer)
(C) O 21 (Chosen option)
(D) O 16

Question No.47

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.

971, 827, 683, 569, 369, 433

(A) O 369 (Correct Answer) (Chosen option)
(B) O 683

(©) O 97

(D) O 827

Question No.48

Find the odd image out in the given series.
A) O 2

®) O 4
C)O 3
(D) O 1 (Correct Answer)

Question No.49

Find the next number in the series.
141,147,159,177,201,?

(A) O 231 (Correct Answer) (Chosen option)
(8) O 216
(€) O 225
(D) O 222

Question No.50

Find the next number in the series.
94, 82,91, 79, 88,7

(A) O 84
(B) O 98
() O 80
(D) O 76 (Correct Answer) (Chosen option)

SECTION 4 - Numerical Ability and Arithmatic

Question No.1

Find the lateral surface area of a cylinder with radius of 49 cm and height of 129 cm.(in
cm)

(A O 146421
(B) O 13642n
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(C) O 12642n (Correct Answer)
(D) O 11642n

Question No.2

How many seconds will a train take to cover a distance of 4860 meters, if it runs at a
speed of 324 km/hr?

(A O 52
(B) O 54 (Correct Answer)
(€) O 56
(D) O 50

Question No.3

|
Directions:

Using the data from the graph answer the question below:

Find the total number of males from sector Q and females from sector P together.
(A) O 820

(8) O 830
(C) O 850 (Correct Answer)
(D) O 840

Question No.4

Find the area of the square whose diagonal is 74 cm.(in cm?)
(A) O 2738 (Correct Answer)

(8) O 2538
(C) O 2438
(D) O 2638

Question No.5

2600 candidates appeared for an examination, of which 2184 passed. Find the pass
percentage.

A) O 92%
B) O 80%
(C) O 84% (Correct Answer) (Chosen option)
(D) O 88%

Question No.6

The ratio of two numbers is 8:9 and their sum is 629. Find the greater of the two
numbers.

(A) O 343
(B) O 353
(c) O 323

(D) O 333 (Correct Answer) (Chosen option)
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Question No.7

Find the lateral surface area of the cube, whose side is 66 cm.(in cm?)
(A) O 17424 (Correct Answer)

(B) O 18424
() O 16424
(D) O 19424

Question No.8

Directions:
Study the following graph and answer the questions below.

Sales of mobile phones in the year 2015 and 2016 by the six branches, BQ,R, S, Tand U
Find the ratio of the total sales of P in both year to that of sales of S in both years.
(A) O 202:215

(B) O 225:202
(C) O 215:202 (Correct Answer)
(D) O 202:225

Question No.9

\
M is thrice as efficient as workman as N and therefore is able to finish a job in 258 days

less than N. Then N can finish the entire work in how many days?
(A) O 367

(B) O 387 (Correct Answer) (Chosen option)

(c) O 397

D) O 357

Question No.10

A and B can do work in 99 days, B and C can do it in 66 days, A and C can do itin 33
days. In what time A, B and C together can do the work?(in days)

A) O 32
(B) O 36 (Correct Answer) (Chosen option)
(C) O 34
() O 30

Question No.11

\
The average weight of 271 fertilizer bags is 71 kgs. If the weight of the box (in which the

fertilizer bags are kept) be included, the calculated average weight per fertilizer bag
increases by 0.8 kg. What is the weight of the box? (In kg)

(A) O 22058
(B) O 21458
(©) O 218.8
(D) O 216.8 (Correct Answer)
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Question No.12

The average weight of 64 bags in a godown is 155.5 kg and that of the remaining 26

bags is 50 kg. Find the average weight of all the bags in the godown. (In kg - rounding off
to two decimals)

(A) O 125.02 (Correct Answer)
(8) O 121.02
(C) O 133.02
(D) O 129.02

Question No.13

If a traveller covers a distance of 8085 metres in 49 seconds, find the speed of the
traveller.(In kmph)

(A) O 584
(B) O 594 (Correct Answer)
(C) O 604
(D) O 574

Question No.14

|
A man travels at a speed of 360 kmph and covers a certain distance in 24 minutes. Find
the distance covered in metres.

(A) O 144000 (Correct Answer)
(8) O 133000

(€) O 155000 (Chosen option)
() O 166000

Question No.15

What value should come in the place of question mark (?) in the following question?
4+ (3v5)2=7-(v5)%2+191

(A) O 137

(8) O 135

(C) Q-8

(D) O -137 (Correct Answer)

Question No.16

The difference between simple interest and compound interest at the same rate for
Rs.4800 for 2 years is Rs.108. Find the rate of interest.

) O 10%
B8) O 20%
(C) O 15% (Correct Answer)
() O 25%
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Question No.17

A merchant sells an article at a rate of Rs.7296 and earns a profit of 14%. Find the cost
price of the article. (In Rs.)

(A) O 6400 (Correct Answer) (Chosen option)
(B) O 6600

(€) O 6700
(D) O 6500

Question No.18

A trader mixes 225 kg of rice at Rs.125 per kg with 235 kg of rice of other variety at
Rs.125 per kg and sells the mixture at Rs.150 per kg. Find his profit percent.
(A) O 20 (Correct Answer)

(B) O 30
(C) O 25 (Chosen option)
(D) O 35

Question No.19

Dominick obtained 170, 153, 176, 173 and 173 marks (out of 200) in English,

Mathematics, Physics, Chemistry and Biology. What is his average mark?
A) O 139

(B) O 169 (Correct Answer) (Chosen option)
(€) O 149
®) O 159

Question No.20

The average of 6 terms is 125 and the 1st term is 1/5 of the remaining terms. What will
be the first term?

(A O 115
(B) O 125 (Correct Answer)
(C) O 95
() O 105

Question No.21

Malcolm bought a Refrigerator for Rs.1755 and sold at Rs.2106. Find the gain
percentage.

(A)O 15
(8) O 30
(C) O 20 (Correct Answer) (Chosen option)
(D) O 25

Question No.22
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Three numbers are in the ratio 35:36:37. The smallest number is 2275. Find the
difference between the smallest and the largest number.

(A) O 130 (Correct Answer)
(B) O 120
() © 100
D®) O 110

Question No.23

A and B can do a piece of work in 32 days, while C and D can do the same work in 96
days. In how many days will A, B, C and D do it together?
A) O 18

B) O 22
(C) O 24 (Correct Answer)
D) O 20

Question No.24

An article was sold at 20% loss by the shopkeeper. If he had sold it for Rs.540 more, he
would have earned a profit of 25%. Find the cost price of the article. (In Rs.)
(A) O 1100

(8) O 1000
(C) O 1200 (Correct Answer)
(D) O 1300

Question No.25

What value should come in the place of question mark (?) in the following question?
2.7%(27%x6x597.5)+72.9 = ?

(A) O 3385
(B) O 3585 (Correct Answer)
(€) O 3485
(D) O 3285

Question No.26

\
Louis bought a new plot which need to be fenced immediately, due to this the length and

the breadth of the rectangular working place is reduced by 7% respectively. Find the %
decrease in the area.

(A) O 11.84%
(B) O 13.51% (Correct Answer)
© O 12.00%
(D) © 11.00%

Question No.27

Directions:
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Using the data from the graph answer the question below:
Find the number of males from sector S.

(A) O 320
(8) O 330
(C) O 300 (Correct Answer)
(D) O 310

Question No.28

A train of length 800 m travels at a speed of 126 kmph crosses a Tunnel in 61 seconds.
Find the length of the Tunnel? (In metres)

(A) O 1235
(B) O 1335 (Correct Answer)
(C) O 1535
(D) O 1435

Question No.29

The salary of A, B and C are in the ratio of 7:15:8. If their total salary is Rs.3960, find the
salary received by C?(in Rs)

(A) O 1056 (Correct Answer) (Chosen option)
(B) O 1356
(C) O 1256
(D) O 1156

Question No.30

If the radius of a circle is increased by 35%, its area is increased by?
(A) O 83.25%

() O 81.25%
(C) O 80.25%
(D) O 82.25% (Correct Answer)

Question No.31

What value should come in the place of question mark (?) in the following question?
(2172+292-628+495)+(34+25-37+41) = ?

(A) O 35
(B) O 37 (Correct Answer)
(C) O 33
(D) O 31

Question No.32

Find the simple interest on Rs.7340 at 20% per annum for 6 months. (In Rs.)
(A) O 934

(B) O 734 (Correct Answer)
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(C) O 834
(D) O 634

Question No.33

Directions:
Study the following graph and answer the questions below.

Sales of mobile phones in the year 2015 and 2016 by the six branches, B Q,R, S, Tand U
Find the average number of mobiles sold in the year 2015

(A) O 103.833
() O 123.833
(©) O 133.833
(D) O 113.833 (Correct Answer)

Question No.34

\
Find the Principal (Rs.) when simple interest = Rs.3810, rate = 6% p.a. and time = 5 years.

(A) O 13700
(B) O 12700 (Correct Answer) (Chosen option)
(©) © 11700
(D) O 14700

Question No.35

Donald covered 1760 km in 55 hours. Find the speed at which he travelled.(In kmph)
(A) O 32 (Correct Answer) (Chosen option)

(B) O 28
(©) O 36
D) O 24

Question No.36

What value should come in the place of question mark (?) in the following question?
132(4/3) +48(3/2) - 136(3/4) = ? - 165(2/5)
(A) O 242

B) O 222
(©) O 232
(D) O 212 (Correct Answer)

Question No.37

Ayden is twice good a workman as Bernard and together they can finish the same work
in 38 days. In how many days will Ayden alone finish the same work?

A) O 65

(B) O 57 (Correct Answer) (Chosen option)

(c) O 69

(D) O 61
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Question No.38

Dharmini travels at a speed of 129 kmph and she reaches the destination in 20 hours.
Find the distance she covers.(in km)

(A) O 2480
(8) O 2380
(C) O 2680
(D) O 2580 (Correct Answer) (Chosen option)

Question No.39

What value should come in the place of question mark (?) in the following question?
375+15+779+19 =7

(A) O 60
(B) O 66 (Correct Answer)
(C) O 64
(0) O 62

Question No.40

Simple interest on a sum at 20% per annum for 2 years is Rs.1040. Find the amount

under compound interest on the same sum for the same period and same rate of
interest. (In Rs.)

(A) O 3644
(B) O 3844
(C) O 3744 (Correct Answer)
(D) O 3544

Question No.41

\
The ratio of three numbers is 14:15:16 and their sum is 2070. Find the second number of
the three numbers.

A) O 710
(8) O 700
(C) O 690 (Correct Answer) (Chosen option)
(D) O 680

Question No.42

If 20% of 410 is x% less than 40% of 520 find x? (Up to two decimals)
(A) O 60.57% (Correct Answer)

(B) O 81.56%
(C) O 70.65%
(D) O 85%

Question No.43
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|
The marked price on an item was Rs.2600 but the shopkeeper offered a double discount
of 25% and 20%. How much did he finally sell the item for?

(A) O 1560 (Correct Answer)
() O 1360
(©) O 1260
() O 1460

Question No.44

Find the perimeter of the rectangle, whose length and breadth are 123 cm and 133 cm.
(incm)

(A) O 512 (Correct Answer)
(B) O 482
(C) O 492
(D) O 502

Question No.45

Pipe A can fill a tank in 335 minutes and Pipe B can empty the same tank in 670

minutes. If both pipes are opened together, how many minutes will it take to fill the
empty tank?

(A) O 710
(B) O 690
(©) O 680
(D) O 670 (Correct Answer) (Chosen option)

Question No.46

Brayan bought a Stove for Rs.1720 and sold at Rs.1290. Find the loss percentage.
A) O 10

B) O 20
(C) O 25 (Correct Answer)
D) O 15

Question No.47

I
Pipe A can fill a tank in 165 minutes, Pipe B can fill the same tank in 99 minutes and Pipe

C can empty the same tank in 66 minutes. If all three pipes are opened together, how
many minutes will it take to fill the empty tank?

(A) O 990 (Correct Answer) (Chosen option)
B) O 970
(€) O 980
(D) © 1000

Question No.48
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A sum of Rs.9450 yields an interest of Rs.3969 in 6 years at what rate of simple interest?
(In %)

(A) O 7 (Correct Answer)
B) O 8
O 9
D) O 6

Question No.49

|
If the average scores of three teams of 135, 145 and 155 members are 135, 145 and 155

respectively, then find the average score of all the members.(rounding off to two
decimals)

(A) O 145.46 (Correct Answer) (Chosen option)
(B) O 155.46
() O 135.46
(D) O 165.46

Question No.50

Three candidates contested an election and received 2496, 7536 and 15728 votes
respectively. What percentage of the total votes did the winning candidate get, If all the
votes were casted? (Up to two decimals)

(A) O 57.05
(B) O 61.05 (Correct Answer)
(€) O 59.05
(D) O 63.05
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